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xt=x?+5x? =3x+6>0 ZEREHE L,
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L%z f(x) LB, f()=8, f(-1)=16, f(2)=28, f(-2)=56, f(3) =96
f(=3)=168 f(6)=1248, f(~6)=1716 75 f(x) 1T —REFEEZ b 7=720y,
ZZT2WX2WDEERIDORE B 2%,

¥ =X +5x7 =3x+6=(x P +ax+b)x* +ex+d) EBE HOEWT
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xt=xP+5x? =3x+6=x+(c+a)x’ +(b+d+ac)x’ + (ad + bc)x + bd
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cta=-1++O b+d+ac=5++Q ad+bc=-3+-@ bd=6"+-@
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©ZGIZRA bz—b{g(l;_z)z—3([3_2)}—(5b—6)=0
(b - 6) b* -6

b2 (b2 = 6)% = 9b(b - 2)2 +3b(b - 2)(b> - 6) — (5b - 6)(b> - 6)* =0
(b —6)>(b—-2)(b-3)+3b>(b—-2)b-3)=0
(b—2)(b-3)b* —9b> +36) =0 (b—2)(b-3)b* —9b> +36) =0
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b4—9b2+36:(b2—5)2+7>0 b 1XEHKEIY b=2 or b=3
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c+ta=-1 ac=0 3a+2c=-3 O3IXEWETDIX a=-1 c=0
2. AR b=3DLE d=2 a=0 c=-1
WTNOHES  x*—x+5x =3x+6= (x> +3)(x? —x+2) LRE RS ND,
ZOHDOFH1IHE, 2HEBIELD xt—x?+5x7=3x+6>0
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